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Study the given information carefully and

answer the question that follows.

In the Kasam family of three generations,

there are eight members — A, B, C, D, E,

F, G and H. C is G’s daughter-in-law. E is

B’s only grandchild. D is one of E’s two

maternal uncles. G and D, one of whom

is male, are the children of B. F is the father

of D. H is G’s husband.

Which of the following statements is true?

(A) There are two males in the second
generation.

(B) Ais the sister-in-law of H.

(C) There are equal number of males and
females in the family.

(D) Cis the granddaughter-in-law of F.

The words in the given word-pair share a
certain relationship. Select the option in
which the word-pair share the same
relationship.

Rat : Rodent

(A) Bee : Apiary

(B) Sailor : Ship

(C) Whale : Mammal

(D) Nomads : Horde

1/
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Q53
even if they seem to be at variance with
commonly known facts and decide which
of the given conclusions logically

follow(s) from the statements.

Statements:

1.  Some rats are white.
2. Some white are pigs.

3. Allpigs are blue.

4. No pigis a donkey.

5. All donkeys are tall.

Conclusion:

1. Some tall are not pigs.

. Some rats are pigs.

ii. All blue being donkeys is a
possibility.

(A) Onlyifollows.

(B) Onlyiand ii follow.

(C) Onlyiiand iii follow.

(D) Onlyii follows.

The production of Sugarcane by six states Q54
in India in the year 2016 is given in the

following graph.
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Which of the following states contributes
less than 20 per cent to the total

Sugarcane production?
(A) OnlyGJ

(B) GJand AP

(C) GJ,APand TN

(D) GJ, MH, AP and MP
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Q55 The following line graph depicts the

percentage of the number of candidates
who qualified CAT examination out of the
total number of candidates who appeared
for the examination from Mithun
Institution over a period of 7 years from

1994 to 2000.

Percentage
o5 888883838

1994 1995 1996 1997 1998 1999 2000

Years

If the number of candidates who qualified
in 1998 was 21200, what was the number
of candidates who appeared in
1998?

(A) 32000

(B) 28500

(C) 26500

(D) 25000
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(X, Y and Z) over the years (in ¥ crores)
are given the following line graph. Study

the graph and answer the question that

follows.

represents Company X — —=— —
represents Company Y .-

represents Company Z —e—

For which of the following pairs of years

was the total exports from the three
companies combined equal?

(A) 1995 and 1998

(B) 1996 and 1998

(C) 1997 and 1998

(D) 1995 and 1996

Read the given question and decide which
of the following statements is/are

sufficient to answer the question.

Question:

What is Rohan’s rank in the class?

Statements:
I.  Rohan’srankis 24 less than Nandan’s
rank.

II. Archana’s rank is 38 more than
Rohan’s rank; Nandan’s rank is 10
less than Archana’s rank.

(A) Statement I alone is sufficient.

(B) Statement II alone is sufficient.

(C) Either statement I or II is sufficient.

(D) Both statements I and II together are

not sufficient.
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of the following statements is/are

sufficient to answer the question.

Question:

Mittal has a building in Ayyappa Society,
Madhapur, which has five floors named
from no. 1 to 5 in such a way that
lowermost floor is numbered as 1 and the
topmost floor is numbered as 5. Five
members live at different floors of the
building, namely Rama, Lina, Tina, Charu
and Anita, but not necessarily in the same
order. Also, these five work in different
companies, namely A, B, C, D and E. Tina
stays on floor no. 2 and works in company
D, and Charu stays on floor no. 5. Also,
the one who stays on floor no. 1 works in
company A. Then, who lives on floor no.
3 and in which company does she/he

work?

Statements:

I.  Neither Lina nor Anita works in
company A.

II.  One who lives on floor no. 3 works
in company C.

III. Anita does not work in company C.

(A) Statement I and II together are
sufficient.

(B) Any two statements together are
sufficient.

(C) Either statement I and II together or
statement II and III together are
sufficient.

(D) All the statements, I, II and III

together, are sufficient.

Downl oakéd From : http://sscportal.ilf/

Downl 0agyd RE5dQRA givii dubiibd SE&RRE LN | N/ oss R v uwii @1 ue aix Frofa of f

f=ffRad & 9 o9 a1 HUF 9= BT
IR 9 B oI I B

I :

e & Ui W HIMIEe], AETR H
Udh AR &, orad uia Gt € ST 1 9
59 ¥ & | 39 k8 W [F=IaH dfoTet a1
1% w9 # e orar g iR ofidaw
HSTeT BT 5 & U H {7 91T 8 | 3ARA
% faff=1 wf5Tar & oI wew 1T M,
TS B PHH H § SToN Tl g1 T gy,
faf=1 wufrn, 31 A, B, C, D3R E
2| ST |Te 2 # & 8 8k BUHl D
# ®H Bl &, IR e AT 5 H &
2| 3AD IAcTal, I A W 1 H
IEdT € 98 BUAl AH BT HRT | 3R,
ST AT dr 3 H T § 98 b
BHIAT H BT HRAT / FRA 27

HUA :
[ 54 HT SR 9 8 3FIdr Bu- A
H B Bl B

II. i fed |feTel Evem 3 U VEdl &
I8 HYA CH B BT 2
[I1. 3ffdT Hu=r C & B 8} Heall 2 |

(A) BT 13IR 11 <1 91T # g &

(B) @I W T YT AT H I 7

(C) IT a1 BT [3IR I AT HF 11 iR
I <=1 a1 # gafa €

(D) T @A L, 11, 3R 1111 H gt
=

Cour t 8E¥-FC UPSSC


http://sscportal.in/
http://sscportal.in/

Downl oa(gied Fr

Downl oaktéd From : http://sscport al

0 http://s ortal
Read tﬁn e given questlon ang g %de Wl?fch
of the following statements is/are

sufficient to answer the question.

Question:

There are five Oil Refining companies in
India, namely A, B, C, D and E.
Production of which of these companies

is the highest?

Statements:

I.  Production of Company B is more
than that of Company A but not more
than that of Company E.

II. Production of Company C is more
than that of Company B but not as
much as that of Company D.

III. Production of Company E is not as

much as that of Company D.

(A) Statements I and II together are
sufficient.

(B) Any two statements together are
sufficient.

(C) Either statements I and II together
or statement III alone is sufficient.

(D) All the statements, I, II and III

together, are sufficient.

. idh/

Q59 o U yeAl @1 ue iR fAvim o f&

f=felRad & 9 o9 a1 U9 9T BT
IR 9 B oI I B

I :
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following assumptions and decide which
of the assumptions is implicit in the
statement.

Statement:

The government decided to pay a
compensation of ¥ 5 lakhs to the family
members of those who were killed in the
boat accident in the Godavari at
Pasuvullanka.

Assumptions:

I.  Government treasury has enough
funds to fulfil the compensation
expenses.

II. The government can try to bring
down the incidents of boat accidents
in the future in that area.

(A) Only assumption I is implicit.

(B) Only assumption Il is implicit.

(C) Either assumption I or Il is implicit.

(D) Neither assumption I nor II is
implicit.

Consider the given statement to be true
and decide which of the conclusions
logically follows from the statement.

Statement:

Use ‘Calvin Klein’ jeans. Nothing comes
between me and my Calvins. — An
advertisement.

Conclusions:

I.  Catchy slogans do not attract people.
II. People like dark shades of jeans.

(A) Only conclusion I follows.
(B) Only conclusion II follows.
(C) Either conclusion I or II follows.

(D) Neither conclusion I nor II follows.
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of the following arguments is/are strong.

Statement:

Should officers of nationalised banks be

transferred after 1 or 2 years?

Arguments:

I.  Yes. They get friendly with local
people and are manipulated by them.

II. No. By the time their policies and
schemes start taking shape, they have
to leave.

III. No. This will create a lot of

administrative hassles and cause a lot

of inconvenience to the officers.

(A) Only argument I is strong.

(B) Only argument II is strong.

(C) Only arguments II and III are strong.

(D) Only arguments I and III are strong.

Read the given question and decide which
of the following arguments is/are strong.

Statement:

Should all the indirect taxes in India be

combined into a single Goods and Services

Tax (GST)?

Arguments:

I.  Yes. This will considerably simplify
the tax collection mechanism and the
cost of collecting tax will also reduce.

II. Yes. The manufacturers and traders
will be benefited by this, which in turn
will boost tax collection.

III. No. No other country has adopted
such a system.

(A) Only argument I is strong.

(B) Only argument II is strong.

(C) Only arguments I and II are strong.

(D) Only argument III is strong.
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answer the question that follows.

ABC Society has kept the following

conditions for the allotment of flats in

their society. The applicant:

(1) Must produce domicile certificate of
the State

(i) Must be earning for minimum of 5
years

(ii1) Must be ready to pay the entire
amount in 5 years’ period

(iv) Must not be the owner or co-owner
(if spouse is owner) of another
residential accommodation in that
city

(v) Mustnot be less than 35 years of age
as on 31st December 2016

In case of an applicant who satisfies all

other criteria except:

A) (i) above, should be referred to the

President of Town Council

(i1) above, but is ready to provide

Aadhar card, should be referred to

the Vice-Chairman of the Committee

(ii1) above, but is a freedom fighter

or an ex-serviceman or a first relation

of them, should be referred to a

member of the Committee

The last date for receipt of application

was 31st December 2016. Conditions are

to be fulfilled as on 31st December 2016.

Based on these criteria, decide whether

to allot flat or not in the following case,

given to you as on 1st January 2017.

Shami is planning to purchase a flat in

ABC Society. He is the son of an

industrialist and from another state who

has set his factory in 2000 and has a

domicile certificate of the state. He is

ready to pay the entire amount in 4 years

if required. He does not own a house in

that city but his wife owns a flat there.

His date of birth is 11th November 1970.

(A) Do not allot flat.

(B) Refer to the Chairman.

(C) Refer to the President.

(D) Allot flat.

B)

0)

I n/Qe4
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[~ ™

(A) (A)

(B) (B)

©) = \ ©) = \
(D) /_\ \ D) /_\ \

Q66 The given figure (x) has some specific Q66 AU Y afids (x) H BB fARIe udi® ¢ |

symbols. Choose the option in which the g8 by g+ 99 T &1 Ui Uy
same symbols are found: ST B |
@A @A
e e
(%) (%)
Ce A G
(A) ‘f@ (A) ‘f@
3%, 35,
Lo o,
® 47w ® |47
& 2.4
© |od © |ode
7% &
(D) ﬂ_ﬁﬁ‘ (D) '&dﬁ
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Q68

dice in a club and they have rolled them
on the floor as given in the following
figure. If x represents the number of dots
on the faces opposite to that containing

four dots, then find the value of x:

DO

(A) 2
(B) 3
©) 6
(D) 1

Replace the ? in the given figure with a Q68
suitable option from the following figure
by observing the relationship between
figures (A) and (B).
% R AL g ?
A B C D
VAo |¥aks | Ladl | Ladl
1 2 3 a
A1
B) 2
©) 3
(D) 4
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LIRESINEEAY

(A) 2
(B) 3
(€) 6
(D) 1

T (A) 3R (B) & 9/ & Haui Pl

geR AU 7Y e @1 Suge f[Aeed &
AT &l?
% ryes g 5
A B C D
Veno (Iaka| Ladl [ Ladl
1 2 3 a
(A) 1
(B) 2
() 3
(D) 4
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suitable option from the following figure <gar Qg Y form &t YUY fdepey D
by observing the relationship between RIPEEES [
figures (A) and (B). > &

=] & [cams
- == &
(A (B) (C) (D)

| = ) = fm mil = ] = | :
D3 | £3395 | P | 99> | | (1) (2) (3) (4) (5)
= = Jiw = j| w wij = wjijs = |
(1) (2) (3) (4) (3) (A) 1
(A) 1 B) 2
(B) 2 <€ 3
(C) 3 (D) 5
(D) 5

Q70 Select the figure that is different among Q70 = agferal & e arerT 3Pl

the following figures. EREECOd

FAEE  ERdAHD
AL B C D E AL B € D E

(A) A A) A

(B) B (B) B

©) C ©) C

(D) D (D) D

Q71 Select the figure that is different among Q71 o bl & & T 3Michs

BT TIT P
the following figures. |

OIS TG e 103 k81 kel kel k=

- A B Cc D E

A B C D E

(A) A
(A) A

(B) B
(B) B

© C
©) C

(D) E
(D) E
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Q72

Q73

Q74

Q75

Fill in the blank with the correct option to Q72
complete the series.

ALBC,CLDC,  ,GLHC

(A) OLPC

(B) ELFC

(C) LLMC

(D) KLLC

Fill in the blank with the correct option to Q73
complete the series.

AZA,BWD, CRI, DKP,

(A) ECX

(B) EYB

(C) EBY

(D) EXC

Select the option that is related to the third Q74
term in the same way as the second term
is related to the first term.

MAGIC : BHFZL :: CABIN:
(A) MAHBZ

(B) MHABZ

(C) MAHZB

(D) MHAZB

In a certain code language, if pink is called Q75
white, white is called yellow, yellow is

called red, red is called green, green is

called black, black is called violet and

violet is called orange, then what would

be the colour of human blood?

(A) Red

(B) Green

(C) Yellow

(D) Orange
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ALBC,CLDC,  ,GLHC

(A) OLPC

(B) ELFC

(C) LLMC

(D) KLLC

HGET BT R B & (oY eI fdbed A
R oI &1 X |

AZA,BWD, CRI, DKP,

(A) ECX

(B) EYB

(C) EBY

(D) EXC

I fdbed &1 T4 BN ST AR Ug |
31 I AR HadT 2 O UeR gav
US U UG 9§ e B |

MAGIC : BHFZL : : CABIN:
(A) MAHBZ

(B) MHABZ

(C) MAHZB

(D) MHAZB

v ARFd @ie wr 4, afe el &l
AHE HET ST &, ABE Bl Yl Bl
SITaT ®, Uil &l ATl dEl Sl €, ol
Pl BT BB ST ©, B Bl Bl Hal
ST 8, BTl BT S+ HEl el § &R
T B AR HET ST B, A AEG e
BT foa 1 F1 BRI?

(A) offel

(B) &1

(C) drem

(D) TR
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Q77

Q78

the question that follows.

‘P Q’ means ‘P is the mother of Q’;
‘P $ Q’ means P is the husband of Q’;
‘P # Q’ means ‘P is the sister of Q’;

‘P ~ Q’ means ‘P is the son of Q’.

X ~HRD $Y represents what relation of
Y with H?

(A) Mother

(B) Father

(C) Father-in-law

(D) Daughter-in-law

In a joint family, there are father, mother,
3 married sons and one unmarried
daughter. Of the sons, two have 2
daughters each and one has a son. Find
the ratio of the total number of female
members to the total number of male
members in the family:

(A) 5:9

B) 9:5

(C) 8:5

(D) 5:8

Two statements are followed by two
conclusions. Assume the facts in the
statements to be true and decide which of
the conclusions follow(s) from the
statements.

Statements:
1. Some papers are books
2. All books are notes.

Conclusions:
I.  No paper is a note
II. Some notes are papers

(A) Only conclusion I follows

(B) Only conclusion II follows

(C) Both conclusions I and II follow
(D) Neither conclusion I, nor II, follows
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(A) #f
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(A) 5:9

(B) 9:5

(C) 8:5

(D) 5:38
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and numbered. Choose the option which
gives the correct order of the letters as
indicated by the numbers to form the

word.
I, A, D, O, H E, N, S
1 2 3 4 5 6 7 8

(A) 3,2,5,6,8,1,4,7
(B) 2,3,5,6,4,8,1,7
©) 2,3,5,6,8,1,4,7
(D) 2,3,5,6,8,4,1,7

How many pairs of letters in the word
‘NIGHTMARE’ have as many letters
between them in the word as in the English
alphabet?

(A) 1

B) 2

©) 3

(D) 5

In the following question, a statement,
followed by two arguments numbered 1
and 2, are given. You have to decide which
of the arguments is/are ‘strong’ with

respect to the statement.

Statement:

To fulfill the energy requirements, India
should make efforts to make use of solar
energy.

Arguments:

I.  Yes, the energy produced in India is
mainly exhaustible.

II. No. To set up solar energy plants, it
will requires a lot of capital, which
India lacks.

(A) Either I or II is strong

(B) Neither I nor II is strong

(C) Only argument I is strong

(D) Only argument II is strong

Q80

Q81

g 3R S8 fou 3fe fed T 8| 99
famed @1 g+, ST A B AT BRA
qrell @il gaRT aftfa Rl &1 el
PH UG BT © |

I, A, D, O, H, E,
I 2 3 4 5 6
(A) 3,2,5,6,8,1,4,7
(B) 2,3,5,6,4,8,1,7
(C) 2,3,5,6,8,1,4,7
(D) 2,3,5,6,8,4,1,7

N, S
7 8

‘NIGHTMARE’ 3§ H 3 1R} &I Hem
o HINY e 9 Sav & iR
T 3Tt aofaren o S9a €9 2 |
(A) 1

(B) 2

© 3

(D) 5

f=ferRad ue & U w9 & 91
db 1 AR 2 Ry 70 & amudT I8 a
BT B {5 HoF & Fag H BT 9

qd AT 2 |

DY :

ol DI IMATIHARA Bl T BIA D
oI, RA @I AR $oll BT STANT B
BT T BT AR |

o

I gl 9Rd ¥ Safad Sl g Aid
=

II. &, IR SHofl 97 Wfud &= o
forg aga &<t 4ol @ raeaehd]
grfl, Rrd! IRa & &4 2

(A) T% 11 T@ [ A9 8

(B) 7 @l [3IR 7 & 11 7olgd 2

(C) Bad I 1 ¥l &

(D) ®aa ad 1 Aolgd &
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and answer the question given below.

A software company has decided to recruit

engineers. The following criteria is to be

applied.

A candidate must:

(1) be an engineering graduate with at
least 75% marks in graduation and
80% marks in HSC.

(i) have work experience of minimum 2
years.

(iii) bereadyto sign a bond of three years.

(iv) not be more than 28 years and not
less than 21 years as on 1.2.2017.

However, if the candidate fulfils all the

above criteria except:

(a) (i), but has obtained 50% in
graduation and 70% in HSC and has
at least three years work experience,
the case may be referred to the
Director.

(b) (iii), but is willing to pay an amount
of X1 lakh if he is required to leave,
the case may be referred to the
President.

(c) (i1), but is a computer engineer, the
case is to be referred to the DGM.

In the question below, details of a

candidate are given. You have to take one

of the courses of action listed in the
options based on the information provided
and the conditions and sub-conditions
given above. The reference date is

1.2.2017. You are NOT to assume

anything other than the information

provided in the question.

Divya is an Mechanical Engineer and has

been working as an Assistant Engineer for

the past one year. She had scored 82%

and 87% marks in graduation and HSC

respectively. She has just completed 25

years of age.

(A) The candidate is to be selected.

(B) The case is to be referred to the
President.

(C) The case is to be referred to the
Director.

(D) The candidate is not to be selected.

I N/Qg2 FrafeRad sTar) DI YD UG 3R

. Ph/

39D I o T g B SR o
Th ATFCIIR HUAT F Sol=1a=I Pl 9ol
BT Bl fhar 2|
frfoRaa Amgs o fod T €
TS et :

() SONFART Fdd § BF | 5 75%
IhT MR TATAAL H 80% 3T B
Ty Sol T @Ry |

(ii) &¥ A HF 2 a9 BT BT IIHT BT
=RV |

(iii) T 99 & df~s W SRR A ©
foT IR 8T ARy |

(V) 1.2.2017 Bl TG 28 qY N A 3IR
21 9§ ¥ HH T BT a1V |

gTofife, afe Seigar fa=faRad &r

§|5qﬂ S | AFGS! BT GRT Bl

(a) (i), oifded F1dd 7 50% 3R U=
AL H 70% 9T By € IR BH
A FHH O a9 BT BRI (W ©, al
9 HHel BT Qe ®f Hefid fhar
ST Hepall 2 |

(b) (iii), Afpd B FHAER | U=
BIST R T 1 AR BT IR BT YA
B DI IR T, AT & Bl
Tefia fear o Aadr 2 |

(c) (ii), AT Th YR oM B,
AT SILSN.TH. ® Fafid fear S
ehdTl 2 |

T faw U yeq H, SHGAR &7 faavor

T a7 B | UBT U= & TS TR

IR SWRIFT I I SI—IAT B IR TR

fadhcdl § gdldg BRATS H I Ud Bl

Y| ded fadie 1.22017 © 1 3MUd!

geq H ] Mg SFGNI B IFATdT 3

fosfl 1 o1 R fIaR 98 BT 2

e e fafad SolfRR © R fUwal

U I¥ § Udh HEID SoilR & w0 H

P B BT T | I H1dd AR T

A H HEIT 82% 3R 87% b T

P o1 | IET onfT 25 AW T IH qUT Dl

=

(A) SHIGIR BT == fhar ST =iy

(B) SI® AT DI 3ge] & U Woll
ST 18T

(C) ST D AM I Qs & URT Aol
NIEIRCIEY

(D) SHIGAR &1 T A2l fhar ST

LR
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hi t Lp p:/1/ss ¢
w1n1 has ive squares w1

dlf}erent
patterns. However one of the squares is

not like the other four. Choose the odd

one.
SRS
1 @ @& @ G
(A) 1
B) 2
(C€) 4
(D) 5
) o s Scale ;1 5q. uait = 5%
Observe the above graph which gives the
information of the results of grade X and
XI of a particular school over the years.
In which year did both the grades perform
the best in that school?
(A) 2008-09
(B) 2009-10
(C) 2005-06
(D) 2007-08
From: http://sscportal.?f/
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N 83 e & o Rt et arer o @

21 gTaife 59 9 H 9 Ud I IR P
Aifa a8 2 | 99 favq ot &1 o=
BIFTY |

+

(1)

<

()

nS

H

(4)

=

(2)

(3)

(A) 1
(B) 2
© 4
D) 5

Scale : 1 sq. unit = 5%

868888

Resuls in %

BRERLE

SWgd % B FRIewr & S e
§B qu1 & ol U fdgarery & Pefl X
3R XIa gROTE &) SIS e 2 |
o ad # Sl wefrell -1 39 fagare
HIIS Uee faar or?

(A) 2008-09

(B) 2009-10
(C) 2005-06

(D) 2007-08
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following sequence?

12,33, 96, 285,852,
(A) 2355

(B) 2553

(C) 2535

(D) 5235

Which number would come next in the
following sequence?

4,9,26, 105,524,

(A) 1345

(B) 3145

(C) 1354

(D) 3154

Which term would come next in the
following sequence?

B2, F8,J32,N128,

(A) R256

(B) R512

(C) R1024

(D) R1204

Which letter cluster would come next in
the following sequence?

BAC, CAB, DAE,EAD,

(A) GAF

(B) FAG

(C) AFG

(D) GFA

Q86

Q87

Q88

g

12, 33,96, 285,852,
(A) 2355

(B) 2553

(C) 2535

(D) 5235

FretfeIRae o™ 3 STl T B 0
gf?

4,9,26,105,524,

(A) 1345

(B) 3145

(C) 1354

(D) 3154

Fr=IfeTRad 3T W BIF T T 3Tl
BIT?

B2, F8,J32,N128,

(A) R256

(B) R512

(C) R1024

(D) R1204

FefRad agepd d NIl JEeR W8
DI AT ENIT?

BAC, CAB, DAE,EAD,

(A) GAF

(B) FAG

(C) AFG

(D) GFA
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arrangement and answer the question the
follows.
@49*%49%238215772935=85
256D185?797262425831624
How many times is the number 2
immediately followed by an odd number?
(A) 2

(B) 3

€ 4

(D) 5

Study the following numeric arrangement
and answer the question that follows.
629 812 372 419 294 989 767

If 1 is subtracted from each odd digit and
1 is added to each even digit then which
of the following numbers in the newly
formed sequence will be the second
highest?

(A) 903

(B) 898

(C) 263

(D) 738

If x” stands for ‘addition’, ‘=’ stands for

‘subtraction’, ‘+’ stands for

2

‘multiplication’ and ‘- ’ stands for
‘division’, then
120+12-3+4x2-2+1=7

(A) 477

(B) 447

(C) 747

(D) 774

n/Qg9

Q90

Q91

- http://sscportal.?h/

fr=IfeTRad Tem=ARS HH BT T
X SR 7 el BT IR < |
@49*49%23821577935=85
256D185797262425831624
AT 2 & 918 Yo faud w1 fha= IR
3T &7

(A) 2

(B) 3

(C) 4

(D) 5

frfaRad Feamdd 9 T IgT B
3R 1 oAl &1 IR <

629 812 372 419 294 989 767

Ife 1 Ud® fIwH 3fw | gl AT ©
IR 1 UAS |H 3% H ST I & ar
a9 T orgepd & 1 | 9 @F AT
AdR ORI STIAH BRTT?

(A) 903

(B) 898

(C) 263

(D) 738

I x* @7 3 ART, + BT 7 T,
+ T 3t IO SR~ T 3k W B,
ar

120+ 12-3+4%x2-2+1=9

(A) 477

(B) 447

(C) 747

(D) 774
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P §ale
interchanged for making the following
equation correct?
543%x4-12+2=-1

(A) +and -

(B) +and x

(C) xand~+

(D) +and +

Arrange the following words as per their
order in an English dictionary.
1. Respond

2. Revise

3. Remember

4. Repeat

5. Repeal

6. Regret

(A) 6,3,5,4,2,1

(B) 6,3,5,4,1,2

() 6,3,5,1,4,2

(D) 6,3,4,5,1,2

If in the word ‘TURBULENCE?’, the first
letter is interchanged with the last letter,
the second letter is interchanged with the
ninth letter and so on, then which letter
would come after the letter B in the newly
formed word?

(A) L

(B) U

(©) R

D) T

. Ph/

Q92 frfaRad TiaRoT & T8l 999 & forg

Q93

Q94

]I Hdhdl o fGeA—dgell DHRAT TeHI?
5+3x4-12+2=-1

(A) + 3R —

(B) + 3M x

(C) 3R =

(D) + 3R +

fforRaa el &1 ool weadrer #
IS HH & TR JARIT N |
1. Respond

2. Revise

3. Remember

4. Repeat

5. Repeal

6. Regret

(A) 6,3,5,4,2,1

(B) 6,3,5,4,1,2

(C) 6,3,5,1,4,2

(D) 6,3,4,5,1,2

Ifd “TURBULENCE’ &3 #H, Ugell wicy
3ifeH oIeR & 1T IeAdl &, TERT ole}
THdl ole} @ AT 9ol & IR SR,
a9 =9 AT oreg H§ ok B3 91 B
AT Tl 3MMYT?

(A) L

(B) U

(C) R

D) T
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first
alphabetically, and then all the vowels are

consonants are arranged
arranged alphabetically, which letter will
be the second to the right of the fourth
from the left?

(AT

(B) R

(OIY%

DY

In a certain code language, the following
symbols represent the time in a clock as
follows:

% means either the hour hand or the
minute hand is at 2

+ means either the hour hand or the minute
hand is at 5

? means either the hour hand or the minute
hand is at 3

< means either the hour hand or the minute
hand is at 4

> means either the hour hand or the minute
hand is at 12

~means either the hour hand or the minute
hand is at 8

Note: If two symbols are given, then by
default, the first symbol is considered the
hour hand and second one is considered
as the minute hand; all times are
considered at PM. For example, <~=4 :
40 PM.

Train D that travels at a uniform speed of
10 m/s leaves Agra for Lucknow at %<
and train F travels to Agra from Lucknow
and starts the journey at %-~. Train F
travels one-third faster than train D. At
what time would both the trains meet each
other if the distance between Agra and
Lucknow is 138 km?

(A) <~

(B) +<

(©) <%

(D) +?

Q96

Rerids T ugel quiigehd H FaRerd fbar
ST 2, 3R R Y TaRl Pl qorigepd 4
rqRerd fbam Sirar €, df $I |1 B Y
A =Y B g R AT BIT?

(A) T

(B) R

©) Vv

D) Y

s AfEd qedm |, fFfaRed uwdie
TS # 9 &1 ufafite e @

% T AdeTd © I1 Al ©C Bl g AT A
B P 2W B

+ T HAIAd & [ 6 o1 gg A1 fAe 3
gs 5w B

? ST Hold B fdb a1 a1 °C &1 gs Al
fide #T gg 3R B

< %I A & A7 A1 He DI gs AT e
DY 4WR T

> @] Al & I a1 ¢ B gs AT e
B FE 12W B

~ BT 7erd & fob 6 @1 gg A1 fAde 3
gs 8 W

&4 < IR T we Ry o g, dr
fSwice wU ¥, Uga Udle o &1 s
HAMET ST € 3R g & [He &1 g
HET ST 2; AT G DI PM A AT
ST & | SR & oy, <~ =4 : 40
PM |

29 D 10 m/s & T A T | A1
PN B, %< W TS B oY 3RT A
R B! & 3R ¢ F oges I IR
AT BT & 3R AT ~% TR YH BRall
219 F¢A D& gar 3 U faers oot
AT FRAT 2 | R AR AR TETS B
g & g4 138 bl € a1 <M1 25 U
TN Y DI AHI W HAR?

(A) <~

(B) +<

(C) <%

(D) +?
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‘bad time to purchase’ is written as ‘hi bo
njyz’;

‘invest money and efforts’ is written as ‘hi
ta ge mr’;

‘purchase bad stuff only’ is written as ‘yz
bo rd fp’; and

‘only energy and money’ is written as ‘ta
fp mr ux’.

What is the code for ‘invest efforts to
energy’ in the given code language?

(A) hibomr fp

(B) tanjyzrd

(C) tafpuxnyj

(D) ux genjhi

In a certain code, LONGER is written as
QDFMNK. How will TIGER be written
as in that code?

(A) QDIHS

(B) QDFHS

(C) QFFJU

(D) QDFIS

Study the given information carefully and
answer the question that follows:

‘M + L’ means ‘L is son of M’

‘M % L’ means ‘L is father of M’

‘L % M’ means ‘L is son-in-law of M’
‘M — L means ‘L is wife of M’

‘L * M’ means ‘M is brother of

‘L# M’ means ‘M is the only sister of L
Which two symbols will come in place of
the question marks in the following
equation to show that E is the wife of X?
X%P-C?D?E

(A) xand +

(B) +and -

(C) +and #

(D) Either x and + or + and #
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“bad time to purchase’ @I ‘hi bonjyz’ &
wU # forar Srar g

‘invest money and efforts’ T ‘hi ta ge
mr’d wU # forar Srar %;

‘purchase bad stuff only’ &7 “yz bo rd fp’
& wU ¥ forar ordr 2; iR

‘only energy and money’ &I ‘ta fp mr ux’®
w9 ¥ forar S 2|

fau U ®rs 99T H “invest efforts to
energy’ @& ol ®Ie T 87

(A) hibomr fp

(B) tanjyzrd

(C) tafpuxnyj

(D) ux genjhi

s ff¥ad #Is #, LONGER &1
QDFMNK & %0 # forar Sirdr 21 59
Prs § TIGER BT d¥ forar Srgem?
(A) QDIHS

(B) QDFHS

(C) QFFJU

(D) QDFIS

1 TS SR BT S Ydd eI DN
3R =1 Uzl &7 SR < |

‘M+L &7 31f 8 ‘L, M’ &7 deT &
‘Mx L &r 1 g ‘L, M’ &1 T &

‘L % M’ &7 31ef § ‘L, M’®T IS &
‘M-L &7 31 gL, M &I gl 2
‘L* M’ T 31ef € ‘M, L BT 4TS ©

‘L# M T 31 © ‘M, L’ BT Thaldl g8
g

frfaRaa T iaRor 7 wed foredl & e
R P I & P 3T I8 fe@™ &
fow f& B, X &1 ol 87
X%P-C?D?E

(A) x 3R+

(B) +3iR—

(C) +3iR#

(D) IT AT x 3R + AT + 3R #
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tudy the given information carefully and
answer the question that follows.

When Mandira Singh tops in her MBBS
course, she becomes the 7th member of
her family to join the Medical profession.
All other family members, namely Tanmay,
Neerja, Monnish, Sanchit, Ruchika and
Vinita, are working at Sawai Man Singh
Hospital as doctors, and Mandira Singh,
who is the youngest of the third
generation, is all set to join them. In this
family of three generations, there are two
pairs of couples and two pairs of brothers
and sisters. There are three Oncologists,
two Dentists, one Physician and one
Neurologist in the family. No female in
the family is an Oncologist. Vinitais nota
Neurologist. No married person in the
family is a Dentist. Tanmay is the son of
Neerja, while Sanchit is the son of
Monnish, whose wife is Vinita. Monnish
is an Oncologist. Monnish and Vinita are
the eldest couple in the family. Mandira
Singh is the daughter of Sanchit, while
Ruchika is the sister-in-law of Neerja.
Who among the following is a Physician?
(A) Mandira Singh

(B) Neerja

(C) Vinita

(D) Ruchika
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3R 4 Tl &1 SR T |

9 HAfexr R sme TAdIET B H
<y foam, a1 a8 A 9T 9 oifdt 8
qrell 309 gRAR &1 74} Fexg 1 S
21 g it uRaIR & e, il a9,
ars 719 g udiel ¥ Sidex & wJ H
dUR 8| A9 qifedl & g9 gRar H, &1
el Sl SR 9rgdl SR 98l & =l
SIS © | gRaR # 9 AfpIaifone, &l
sq Rifecrs, e Rifdcas R e
wgfadve ((RIeRe) 1 aRaw #
IS AR T Spreiiioree T8 & | fasiiar
RIS 81 & | IRIR H iy faarfed
e e <a Afecdd 81 g | a9
ARSI &7 g B, Sfafe Aaid A B
9o &, rga oo fasfar 2| A e
JATPIASTRE & | AFTET 3R fa=ar aRaR
H 9e g% © | dfext Rig |fea a1 98
£, STafe BT RS &1 79g / SoH]
/ Al g
fFrfead # & B9 v Rifdbers 87
(A) #fexr Rig

(B) ¥RwT

(C) fafar

(D) ®ferer
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Which ruler founded the Tughlaq dynasty
in India?

(A) Firuz Shah Tughlaq

(B) Ghiyas-ud-din Tughlaq

(C) Alauddin Sikander Shah

(D) Muhammad bin Tughlaq

Q102 Which of the following kings died as a

Q103

Q104

Downl oakéd

result of falling down from the stairs of
his library?

(A) Jahangir

(B) Shah Jahan

(C) Babur

(D) Humayun

Which Mughal emperor got the famous
‘Peacock Throne’ built and placed in the
Lal Qilain Delhi?

(A) Shah Jahan

(B) Jahangir

(C) Akbar

(D) Bahadur Shah I

Why is Bodh Gaya an important Buddhist

pilgrimage centre?

(A) Because Gautam Buddha was born
here

(B) Because Gautam Buddha attained
enlightenment here

(C) Because Gautam Buddha preached
his first sermon here after attaining
enlightenment

(D) Because Gautam Buddha attained

parinirvana here

From: http://sscportal
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Q101 5 2ME® F WRA H JIeAd a0 Bl g

G of?

(A) fORIST 2mE e
(B) TRII—TE Tl
(O EISHERREE NI
(D) gg™1e fas1 grer

QI02 1 H ¥ b\ w\e & I 9D

QIPTerd B Wifedl 0 fRex gg o7
(A) STERAR

(B) eMEiE!

(C) drsR

(D) g,

Q103 favaufig AR RigRT &1 AT 3R @

T fdvet # wIoe 7§ 9 B e
D -1 DI AP

(A) SITESTRI

(B) SRR

(OREEN

(D) §BIgRAE 1

Q104 9T AT U HEdYUl dlg i b I

27

(A) HIfd a9 g5 Isi U1 gu o

(B) ifd o g€ = I = U
o e

(C) Fifd s & 7 A U B B
9IS IgT T UBelT S f&ar o

(D) Hifd T gg -1 Iai Fafor gra

fpar o
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Q105 Which of the following sessions of Indian
National Congress was presided over by
Mahatma Gandhi?

(A) 1922; Gaya
(B) 1923; Delhi
(C) 1924; Belgaum
(D) 1925; Kanpur

Q106 Which prime minister of Great Britain had
announced the Communal Award in 1932
during the Indian Freedom Movement?
(A) Stanley Baldwin
(B) Neville Chamberlain
(C) Sir Winston Churchill
(D) James Ramsay MacDonald

Q107 In which city did freedom fighter Chandra
Shekhar Azad shoot himself on being
besieged by the British Police?

(A) Bhopal
(B) Allahabad
(C) Kanpur
(D) Jabalpur

Q108 Which of the following rivers ends in the
Arabian Sea?
(A) Narmada
(B) Godavari
(C) Krishna

(D) Kaveri

Downl oaked From : http://sscportal . Bh/
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frforRad a=l # 9 fodaa! sreverar &
ofT?

(A) 1922; T

(B) 1923; faeell

(C) 1924; ST

(D) 1925; HHYR

Q106 VR &c=IdT Ml & QR 1932 H

e faea @ fha ga= w3 7 A
QREHR DI AT B ofY?

(A) T gresiad

(B) Afde T Re™

(C) IR fdwes afda

(D) SIFF YA HbSHogd

Q107 =1 # & g w&R # @d=ar |l

TSGR 3T o fAfeer gfers garT iR
S R G& Bl el AR ol 17

(A) Hraret

(B) gelrerdrg

(C) PR

(D) SI9egR

Q108 fF=faRad & & fhw A€ &1 F9rFH

3RY AR H &7
(A) e

(B) &TeR
(C) Pwm

(D) BT
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Sanctuary situated?
(A) Kerala

(B) Madhya Pradesh
(C) Karnataka

(D) Uttar Pradesh

Q110 Which of the following states has the

lowest density of population in India?
(A) Mizoram

(B) Sikkim

(C) Nagaland

(D) Arunachal Pradesh

QI11 In which country does Danube river

originate?

(A) Hungary
(B) Germany
(C) Romania

(D) Austria

Q112 Which is the largest continent in terms of

area?

(A) North America
(B) South America
(C) Asia

(D) Africa
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Downl 08(91%9 h|1: LRI :stgttetif :th/e/B%%grQ%i}dﬂlfe' | n/Q109 TgT aIoid IMIRYY b I # Rerd

27

(A) DA

(B) &g U<
(C) Prilcd
(D) ITR T

f=foRea 5 @ fog g 8§ 9Ra ¥

ST DT g-cd Fad hH %\r?
(A) fasirs
(B) ffdemH
(C) TTeis

(D) 3TSUMAA TS

g & BT I fHF <2 H 77
(A) BRI

(B) ST

(C) Rrfera

(D) 3fiRgan

gAhd & IMYR TR HId I ARIGAIY
= 5 q 3 a8

(A) SR 3MR®T

(B) <feror smRapr

(C) TR

(D) 3IbIdT
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Q113 On whichriver is the Chamera Dam built?

(A) Sutlej
(B) Ravi
(C) Beas

(D) Chenab

Q114 In which country is Galeras Volcano
located?
(A) Colombia
(B) Mexico
(C) Italy

(D) Hawaii

Q115 In which state is the Thoseghar Watertfall
located?
(A) Mabharashtra
(B) Karnataka
(C) Odisha
(D) Madhya Pradesh

Q116 What is the approximate percentage of the
total human population that lives in the
Northern Hemisphere?

(A) 60
(B) 70
(C) 80

(D) 90
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Q113

Q114

Q115

Q116

TR Y a8 oR R T3 87
(A) |ag

(B) 3fa

(©) e

(D) e

iTelNd STl fhd <er # Rerd €7
(A) Drafraar

(B) HfarenT

(C) seeh

(D) &aT$

oIRTER dTeBidt fhd I5g 7 Rerd 77
(A) HERTS
(B) Hlc®
(C) snfsem
(D) e Uasl

gl & I TR H e drell B
A JATETET BT SFFATT Ufcrerd a1 87?
(A) 60
(B) 70
(C) 80
(D) 90
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QI19 According to

Downl 03g69 ol QM ki thd SSCPBLG@h: |

of India.
(A) 16™
(B) 14*
(C) 12*
(D) 11™

Q118 According to Article 243-1 of the

Constitution of India, a Finance
Commission is constituted to review the
financial position of the Panchayats:

(A) at the expiration of every sixth year
(B) at the expiration of every fifth year
(C) atthe expiration of every second year

(D) at the expiration of every third year

of the Constitution
of India, the President has the power to
promulgate Ordinances.

(A) Article 123

(B) Article 121

(C) Article 125

(D) Article 127

Q120 The total number of nominated members

in the Rajya Sabha is:
(A) 17
(B) 19
(©) 15
(D) 12

n/Qll7 i1 M AT PIfdE IR D

Q118

Q119

Q120

Downl oaktéd From : http://sscportal.Bn/

RISzt

2 |

(A) 164
(B) 14d
(C) 12d
(D) 11d

R & WA & g 243-1 & AR
gardl & facia Refa o aWer &
o1 AT JMANT &1 T8+ 6he fbhar v
2?

(A) B TS 99 P AT TR

(B) & Ufad 99 & HHIG R

(C) & TN a¥ 3 FAIG W

(D) & TR a4 & FHIT WR

YRA & WU & @ R
Il & OT IATAY STRI B Dl
NIES IS

(A) =0T 123

(B) e wus 121

(C) =T8T 125

(D) =0T 127

RISGHAT H HAIHIT Tl Dl el Gl
T 8?
(A) 17
(B) 19
(C) 15
(D) 12
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Legislative Assembly. 3 ufdd gl 2|
(A) The Governor (A) XrSgared
(B) The Prime Minister (B) YLTTHAT
(C) The Vice-President (C) SURTEYfT
(D) The Chief Minister (D) W

Q122 Where has the first Mobile Open Q122 YH HIGISel YT YaAT Sl Sl I

Exchange zone been inaugurated? IgdTed Hal fhar T 8?2
(A) Ahmedabad (A) 3fEHIIETS

(B) Gurgaon (B) 1:J,?':TI'VI_C[

(C) Chandigarh (C) TSFTS

(D) Noida (D) ITST

Q123 What was the rank occupied by India in Q123 2018 @& TSl BN UH.SI3TS. difbed

the 2018 AT Kearney FDI Confidence TSI H YNT BT A R AqT7
Index? (A) 2541

(A) 25" (B) 11ai

(B) 1* (C) 36t

(C) 36" (D) 744t

(D) 74%

Q124 The Union Cabinet has approved the Q124 oy #fydsd 7 &= U™ d3i

extension of the scheme of recapitalisation (3TR.BRAN) & YAYSIIBRYT B AT Bl
of Regional Rural Banks (RRBs) up to % [IWR #1 H) TAL
- (A) 2020

(A) 2020 (B) 2022

(B) 2022 (C) 2025

(C) 2025 (D) 2030

(D) 2030
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(A) 21 April ST 87

(B) 23 May (A) 21 3T Bl

(C) 18 June (B) 23 Aig @I

(D) 29 July (C) 18 A &I
(D) 29 S[Tg B

Q126 Where was India’s first Global Mobility Q126 WRA & Ugen df¥ad wirefierar R

Summit held? T (Telge Arfafercy affic) @et
(A) New Delhi mafsTa far T er?
(B) Pune (A) 78 feell
(C) Lucknow (B) gur
(D) Mumbai (C) T
(D) He&
Q127 Which among the following governments Q127 f=faRad WReRI # 9 fha 7 ?Iéfl?Tﬁﬁ
launched the Suryashakti Kisan Yojana? A ST &1 URY fdar 87
(A) Madhya Pradesh NE R
(B) Mabharashtra (B) HERTYY
(C) Guyjarat (C) TSINTd
(D) Odisha (D) anfeem

Q128 The 7-Star Gram Panchayat Rainbow Q128 BRI WHR AR U YAl Bl

Scheme launched by the Government of TR T 9 B foru KIS PY IS 7—RIART
Haryana to give star rankings to its U AT SEEJY AT fobed AT
panchayats is based on how many social AM®I TR MR 27?

parameters? (A) 9

(A) 9 (B) 7

(B) 7 ©) 5

© 5 (D) 3

(D) 3
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Q129 The Telangana I:I)’olice hasplaunched Q129 T Yferd =1 1o & qR gfer fawmT

_________mobile application to support the P AEAAIS AR 3R TSN DI STw=dl
professional communication and BT THAT PR B forg AR
collaboration needs of the entire police Ufterded dfa far 21

department of the state. (A) 9T BFE

(A) People Connect (B) hT3H Bride

(B) Crime Connect (C) df ®rde

(C) Law Connect (D) WL PBriae

(D) COP Connect

Q130 Which among the following has recently Q130 g & ¥ fmfelad 4 & fdhae! RyRr

been declared as the state fruit of Tripura? BT ISghel BN fepar T 87

(A) Queen Pineapple (A) FEH A

(B) KingOrange (B) b 3RS

(C) Prince Mango (C) i am

(D) Queen Litchi (D) T foreht

Q131 Whatis the full form of NABARD? QI31 ATETS (NABARD) &1 fawqd wd a2 27

(A) National Agricultural Bank for Agro (A) e UideeRd 4% BR T T8
and Rural Development ¥ SAUHT

(B) National Bank for Agriculture and (B) -¥Mel §b BR TR Us o
Rural Development SAIHE

(C) National Bank for Asset and Rural (C) ~TIeT 4 BR THS TS IRl
Development SqelTHT

(D) New Bank for Agriculture and Rural (D) =g 9% BR PR TS IRel
Development SERREE
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Q132 Which among the following nations is the

Q133

Q134

Downl oaktéd From : http://sscportal . #h/

largest tractor market in the world?
(A) Brazil

(B) USA

(C) Russia

(D) India

The 13th edition of ‘Annapoorna — World
of Food India’ is scheduled to be
organised during 27-29 September 2018
n:

(A) Mumbai

(B) Delhi

(C) Bhopal

(D) Patna

Which of the following nations was the
world’s largest producer of milk in
2017-18?

(A) Germany

(B) India

(C) Australia

(D) South Africa

Q132 fer=ferRae <o & A ®iF w1 g o

Q133

Q134

AR 9T ¢} doiR 27
(A) sforet

(B) SMHRIPT

(C) ¥4

(D) WRd

27—29 fUdeR 2018 & TR ‘SF=TYoll —

Jos 3% WS AT & 137 HWHROT &l

IS e eR # fham ST
() g%

(B) faeed

(C) ¥raret

(D) Yc-r

2017—18 & SRM f=faRad & 9

AT S g1 BT W F91 q¥ IAGH
77

(A) ST

(B) WRd

(C) sifegferm

(D) TferoT IrhidnT
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Primary Storage Device?

(A) Hard Disk

(B) Random Access Memory
(C) Magnetic Tape

(D) Optical Disc

Q136 Which of the following is a Programming
Software?
(A) Disk Cleanup
(B) Windows
(C) Disk Defragmenter
(D) Visual Basic

Q137 In terms of computers, the set of ways in
which an adversary can enter a system and
can potentially cause damage is called:
(A) Attack Surface
(B) Attack Signature
(C) Attack Pattern
(D) Attack Path

Q138 The use of mathematical techniques to

provide security services, such as
confidentiality, data integrity, entity
and data

authentication origin

authentication, is called:

(A) Cryptology

(B) Cryptography

(C) Cryptographic Algorithm
(D) Cryptanalysis

lel35ﬁmﬁ1®ﬁﬁ®aﬁﬂwmﬂﬁ@w

. #h/

fEarser &7

(A) TR 555

(B) ¥H Uaid HARI
(C) #Hfed <u
(D) Jiiftewrar &&h

Q136 /41 & | ®IF TP YR AldeRR 87
(A) [$%F Feliar
(B) fderst
(C) & SHrHR
(D) fasgsret o

Q137 oWk & ¥WeH § g b I B
faRE Rved o wa9r o) Ahar & &R
I w0 & &Ifd BT RO 99 FHhaT ©
S FIT HEd 87

(A) BHCT A8 /3Ch AXDY

(B) BHC BKIER /3Ch RT=eR

(C) &Fell Ued /e Ued
(D) BT U /31CH TrT

Q138 GReE Harsil SI U, ST 3R,
ShTs JATOMIRRYT 3R ST Hl TATUIEHROT
U™ @R & forg PRI ddb-ial @
SUINT T HET Sl 27
(A) Torerarst
(B) o

(C) fhenrmbd TeTiReH

(D) ferreTferfera
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agriculture in Uttar Pradesh?
(A) 56.7
(B) 60.7
(C) 64.7

(D) 68.7

Q140 Which is the shortest Kaanda (chapter) of

Ramcharitmanas?

(A) Aranya Kaanda
(B) Kishkindha Kaanda
(C) Sundar Kaanda

(D) Lanka Kaanda

Q141 What is the rank of Uttar Pradesh among

Indian states in terms of the quantity of
potato production?

(A) First

(B) Second

(C) Third

(D) Fourth

Q142 In which district of Uttar Pradesh is the

Kichhauchha Dargah Sharif located?
(A) Sant Kabir Nagar

(B) Mirzapur

(C) Ambedkar Nagar

(D) Sultanpur
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”’Q139wmﬁw$mw@m

gfererd I &7
(A) 56.7
(B) 60.7
(C) 64.7

(D) 68.7

Q140 MARFHAFH &I DI AT HIUS (3eT)

AT BICT &7

(A) 3RTY BUS
(B) fbfspen dvs
(€) g} @I's

(D) Wil BIvS

Q141 37e] & IUTed ¥ YRA H IR TS Bl

I T 77
(A) T&gefl
(B) a1
(C) =T
(D) drer

Q142 SR U< & b St # fHBIBT e

I Rerd 77
(A) 9d HIR TR

(B) fasigR
(C) 3TdSdHR TR

(D) G IR
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noted musician Mrs. N. Rajam associated? W | & argy I3 | 7°
(A) Sitar (A) AR

(B) Violin (B) arafer

(C) Tanpura (C) argxT

(D) Flute (D) &I g8

Q144 In which year is the next Ardh Kumbh Q144 garrerEre ¥ fd a¥ 3Tl ot B DI

Mela scheduled to be held in Allahabad? TS T ST 27
(A) 2019 (A) 2019
(B) 2020 (B) 2020
(€) 2021 (C) 2021
(D) 2022 (D) 2022

Q145 On which occasion are the Sohar folk Q145 fA=forRad & I P9 R W AR

songs sung? QBT BT A o Sirem &7
(A) Childbirth (A) T & ST W

(B) Namakarana (giving a name) (B) STHIchRoT

(C) Mundan (cutting of hair) (C) Hs7

(D) Marriage (D) faarg

Q146 Which of the following places is famous Q146 &GAR Blell & fog /91 # & @9 <1

for Lathmar Holi? W URYE 87
(A) Vrindavan (A) gTad
(B) Govardhan (B) TMae|
(C) Barsana (C) I
(D) Gokul (D) e
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collection of poems?

(A) Jaishankar Prasad

(B) Shivmangal Singh Suman
(C) Mahadevi Verma

(D) Maithilisharan Gupt

Q148 In which of the following cities is the

Central Footwear Training Institute
located?

(A) Kanpur

(B) Lucknow

(C) Agra

(D) Noida

Q149 Which district of Uttar Pradesh has the

highest population as per Census 20117
(A) Allahabad

(B) Agra

(C) Moradabad

(D) Ghaziabad

Q150 What was the land donated to Jaina

institutions called as per Chola
inscriptions?

(A) Vellanvagai

(B) Shalabhoga

(C) Pallichchhandam

(D) Brahmadeya
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ARED B 7

(A) STIAY U
(B) Rrewer R ga
(C) weradl i

(D) #frefrerRoT TaT

Q148 fHfeiRad H ¥ fbd wer # Agel HefddR

o T $Recye Rea 77
(A) DR

(B) &S

(C) TRT

(D) TS

Q149 2011 & STIVFT & ATAR IR T30

@ frd Rtel o S qaffde 2?
(A) SCITETdTS

(B) SIIRT

(C) ARIEMETE

(D) TfFaTeTE

Q150 A W@ & AR ST FRIT Bl

T9 # Ry SIM a1 9 B R®I1 wE
SIS0

(A) Jeofr=aTTg

(B) TR

(C) Uccireor<d

(D) SRl
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Read the following Instructions carefully :

T/

Frafefaa el @ &9 9 U

1. Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Blue/Black Ball Point Pen on the
OMR Answer Sheet. The answer once marked is not
liable to be changed

. The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet.

. Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy

in Test Booklet), another set will be provided.

. The candidates will write the correct Test Booklet

Series as given in the Test Booklet in the Attendance

Sheet.

Each candidate must show on demand his / her Admit

Card to the Invigilator

. No candidate, without special permission of the

Superintendent or Invigilator, should leave his / her
seat.

. The candidates should not leave the Examination Hall

without handing over their Answer Sheet to the

Invigilator on duty. Cases where a candidate has not

signed on the Attendance Sheet will be deemed not

to have handed over the Answer Sheet and dealt with

as an unfair means case.

Use of Pencil/Electronic/Manual Calculator is

prohibited.

The candidates are governed by all Rules and

Regulations of the Commission with regard to their

conduct in the Examination Hall. All cases of unfair

means will be dealt with as per Rules and

Regulations of the Commission.

10.After Examination is over, candidate has to return
his Answer Sheet to invigilator. Invigilator will hand
over the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall.
Candidate is only allowed to take Candidate’s copy
of answer sheet.

11. Candidates are not allowed to take Test Booklet with

them They have to submit the Test Booklet to the

invigilator after the exam.

1. 9% U & forv fov ¥ IR fAdeal § 9
TE SR B foIv ol UH. R, SR U9 WX
BHIA T et BT Bl T ARE Bl aTdf dise
U9 9 WY | U R IR 3ifbd foy o9 &
qI€ S 98l el o Il 2 |

. qRIEe RREd o &1 ITR U Bl AreT 1
U Ud S W PBIg I R T e |
el U JTghHIe SR UF # MEiRd
RF & AfaRad = 7 ford |

QRIeT YRThT Ud SR T &I TN
PN, Fife Al A aRRefT # (@aet qer

GRATDT H FHHI DT BIS DY) TN WRIET JREDT

Ud IR UF U el BRI SITEATT |

. e gRaeT H & TR wRier gRa®r RIS
Bl RIemdl HEl T I BIoRI—u H ford |

. I8 9M R UAS qRIeTdl, Hef Field Dl
37T Yo U g |

. gD AT BeT D D [IUY AT B
o ®1E wWRemeft iy e T BIS |

HRINT HeT RI&Th Bl YT IR T QU
o et oA e g s | e
forxft aRlemef 7 BIRN—3 IR ExdeR 78l
U O I8 HFT S0 &Y A SR TF TRl
Jlerr g 3R Ig SFfed | BT’
HET ST |

. UFIS [/ Selaeiiieh / geadiield URdbeld Bl
SHINT afdtd 2|

. TXIET Bfel MR & forg uiemefl amanT
o I sl v et g fAafaa g
& frodl vd el & ergar &R |

10.TRIETT & SURIT 31ell SR TP BeT J=cRIeTd
BT el ¢ | aNeid gIRT 3ngell &l SR
TG DI gt Uit ST BRIS SIQIT qe
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